



ELSEVIER

Available at

www.ElsevierMathematics.com

POWERED BY SCIENCE @ DIRECT®

Journal of Approximation Theory 125 (2003) 295–302

JOURNAL OF
Approximation
Theory

<http://www.elsevier.com/locate/jat>

Sharp estimates for Jacobi matrices and chain sequences, II

Ryszard Szwarc^{a,b,*,1}

^a*Institute of Mathematics, Wrocław University, pl. Grunwaldzki 2/4, Wrocław 50-384, Poland*

^b*Institute of Mathematics, Polish Academy of Science, ul. Śniadeckich 8, Warszawa 00-950, Poland*

Received 29 May 2003; accepted in revised form 3 November 2003

Communicated by Walter Van Assche

Abstract

Chain sequences are positive sequences $\{c_n\}$ of the form $c_n = g_n(1 - g_{n-1})$ for a nonnegative sequence $\{g_n\}$. They are very useful in estimating the norms of Jacobi matrices and for localizing the interval of orthogonality for orthogonal polynomials. We give optimal estimates for the chain sequences which are more precise than the ones obtained in the paper (Constructive Approx. 6 (1990) 363) and in our earlier paper (J. Approx. Theory 118 (2002) 94).

© 2003 Published by Elsevier Inc.

MSC: primary 42C05, 47B39

Keywords: Orthogonal polynomials; Chain sequences; Jacobi matrices; Recurrence relation

1. Introduction

The concept of chain sequences has been introduced by Wall [8] in connection with continued fractions. These are sequences $\{c_n\}_{n=1}^{\infty}$ which can be represented in the form

$$c_n = g_n(1 - g_{n-1}), \quad n \geq 0, \quad (1)$$

*Institute of Mathematics, Wrocław University, pl. Grunwaldzki 2/4, Wrocław 50-384, Poland. Fax: +48 71 3757429.

E-mail address: szwarc@math.uni-wroc.pl.

¹Partially supported by KBN (Poland) under Grant 2 P03A 028 25 and by Research Training Network “Harmonic Analysis and Related Problems” Contract HPRN-CT-2001-00273.

for a sequence $\{g_n\}_{n=0}^\infty$, such that $0 \leq g_n \leq 1$. Chain sequences have also been used to locate the interval of orthogonality for systems of orthogonal polynomials. Namely, let p_n be a system of orthogonal polynomials satisfying the recurrence relation of the form

$$xp_n = \gamma_n p_{n+1} + \beta_n p_n + \alpha_n p_{n-1},$$

for $n \geq 0$, where $\gamma_n > 0$, $\alpha_{n+1} > 0$, $\beta_n \in \mathbb{R}$. We use the convention $\alpha_0 = p_{-1} = 0$. Let μ denote an orthogonality measure. It might not be unique. Then the number a is located to the left of support of μ if and only if $a < \beta_n$ for $n \geq 0$ and the numbers

$$\frac{\alpha_{n+1}\gamma_n}{(a - \beta_n)(a - \beta_{n+1})}$$

form a chain sequence (see [2, Theorem 2.1, p. 108]). From this point of view, estimates of the chain sequences are important to obtain precise location of the interval of orthogonality.

The greatest constant chain sequence is $c_n = \frac{1}{4}$. Chihara [3] obtained some upper estimates for the chain sequences whose terms are greater than $\frac{1}{4}$ and stated the problem of determining sharper estimates. In [7], we sharpened Chihara’s estimates by showing that if a chain sequence satisfies

$$c_n \geq \frac{1}{4} + \frac{1 + \varepsilon_n}{16n^2} \tag{2}$$

for almost all n , where $\varepsilon_n \geq 0$, then (see (11) in [7])

$$\sup_n (\log n) \sum_{k=n+1}^\infty \frac{\varepsilon_k}{k} < +\infty.$$

On the other hand Jacobsen and Masson [4] found very precise convergence results for continued fractions which can be reformulated into chain sequence setting. Theorem 1 of [4] yields the following.

Theorem 1 (Jacobsen, Masson). *Let c_n be a chain sequence such that for $n \geq N$ there holds*

$$c_n \geq \frac{1}{4} + \frac{1}{16n^2} + \frac{1}{16n^2(\log^{[1]} n)^2} + \dots + \frac{1 + \varepsilon}{16n^2(\log^{[1]} n \log^{[2]} n \dots \log^{[k]} n)^2},$$

where $\log^{[k]} x$ denotes the k th composition of the logarithm. Then $\varepsilon \leq 0$.

In this paper we are going to estimate the remainder in the formula above. Namely we will show the following.

Theorem 2. *Let c_n be a chain sequence such that*

$$c_n \geq \frac{1}{4} + \frac{1}{16n^2} + \frac{1}{16n^2(\log^{[1]} n)^2} + \dots + \frac{1 + \varepsilon_n}{16n^2(\log^{[1]} n \log^{[2]} n \dots \log^{[k]} n)^2}$$

for $n > N$, where $\varepsilon_n \geq 0$. Then,

$$\lim_n \log^{[k+1]} n \sum_{j=n+1}^\infty \frac{\varepsilon_j}{j \log^{[1]} j \log^{[2]} j \dots \log^{[k]} j} \leq 4. \tag{3}$$

The estimates for chain sequences can be immediately applied to Jacobi matrices according to the following well-known fact. The Jacobi matrix J defined as

$$J = \begin{pmatrix} 0 & \sqrt{c_1} & 0 & 0 & \dots \\ \sqrt{c_1} & 0 & \sqrt{c_2} & 0 & \dots \\ 0 & \sqrt{c_2} & 0 & \sqrt{c_3} & \ddots \\ 0 & 0 & \sqrt{c_3} & 0 & \ddots \\ \vdots & \vdots & \ddots & \ddots & \ddots \end{pmatrix}$$

is a contraction on the Hilbert space of square summable complex sequences if and only if the numbers $\{c_n\}_{n=1}^\infty$ form a chain sequence.

For related results on chain sequences we refer to [1], [5], and [6].

2. The proofs

For a sequence $\{a_n\}$ we define $\Delta a_n = a_{n-1} - a_n$.

Lemma 1. Fix a positive integer N . Assume sequences $\{a_n\}_{n=0}^\infty$ and $\{b_n\}_{n=0}^\infty$ satisfy $\lim_{n \rightarrow \infty} a_n = 0$, $\Delta a_n \geq 0$ and there exists a sequence u_n such that $u_n > 0$ and

$$u_{n-1} - u_n \geq \frac{1}{2} b_n + \frac{1}{2} \frac{\Delta a_n}{a_{n-1} a_n} u_{n-1} u_n, \tag{4}$$

for $n \geq N$. Then,

$$\lim_{n \rightarrow \infty} \frac{1}{a_n} \sum_{j=n+1}^\infty b_j \leq 4. \tag{5}$$

Assuming additionally that

$$b_n \geq \Delta a_n, \quad n \geq N \tag{6}$$

yields $u_n \geq a_n$ for $n \geq N$. Furthermore if $u_n = a_n(1 + v_n)$ then

$$v_{n-1} - v_n \geq \frac{b_n - \Delta a_n}{a_{n-1} + a_n} + \frac{\Delta a_n}{a_{n-1} + a_n} v_{n-1} v_n, \quad n \geq N. \tag{7}$$

Proof. We have

$$u_{n-1} - u_n \geq \frac{1}{2} b_n.$$

Summing up the terms from n , where $n > N$, to infinity gives

$$u_n \geq \frac{1}{2} \sum_{j=n+1}^{\infty} b_j, \quad n \geq N. \tag{8}$$

In particular the series $\sum b_j$ is convergent. On the other hand (4) implies

$$\frac{1}{u_n} - \frac{1}{u_{n-1}} \geq \frac{1}{2} \left(\frac{1}{a_n} - \frac{1}{a_{n-1}} \right).$$

Thus

$$\frac{1}{u_n} - \frac{1}{u_N} \geq \frac{1}{2} \left(\frac{1}{a_n} - \frac{1}{a_N} \right), \quad n \geq N. \tag{9}$$

Multiplying inequalities (8) and (9) sidwise and taking the limit gives (5).

Let γ be a constant such that

$$u_n = \gamma a_n + r_n, \quad \text{where } r_n \geq 0, \quad n \geq N. \tag{10}$$

Then by (4) and (6) we obtain

$$\gamma \Delta a_n + r_{n-1} - r_n \geq \frac{1}{2} \Delta a_n + \frac{1}{2} \gamma^2 \Delta a_n.$$

Therefore

$$r_{n-1} - r_n \geq \frac{1}{2} (\gamma - 1)^2 \Delta a_n.$$

Since $a_n \rightarrow 0$ we get $r_n \geq \frac{1}{2} (\gamma - 1)^2 a_n$. Let γ be the greatest constant for which (10) holds. The last inequality implies that $\gamma = 1$. Thus $u_n \geq a_n$ for $n \geq N$.

Let $u_n = a_n(1 + v_n)$. Plugging it into (4) and performing straightforward transformations results in (7). \square

Let $\log^{[l]}(x)$ denote the l th composition of the logarithm.

Lemma 2. *Let*

$$a_n^{[0]} = \frac{1}{n}, \tag{11}$$

$$a_n^{[l]} = \frac{1}{\log^{[l]}(n + l)}. \tag{12}$$

Then

$$\frac{\Delta a_n^{[l]}}{a_{n-1}^{[l]} + a_n^{[l]}} \geq \frac{1}{2} \frac{\Delta a_n^{[l+1]}}{a_{n-1}^{[l+1]} a_n^{[l+1]}}. \tag{13}$$

Proof. For $l = 0$ we have

$$\frac{\Delta a_n^{[0]}}{a_{n-1}^{[0]} + a_n^{[0]}} \geq \frac{1}{2} \frac{\Delta a_n^{[0]}}{a_{n-1}^{[0]}} = \frac{1}{2n},$$

and

$$\frac{1}{2} \frac{\Delta a_n^{[1]}}{a_{n-1}^{[1]} a_n^{[1]}} = \frac{1}{2} [\log(n+1) - \log n] \leq \frac{1}{2n}.$$

Let $l > 0$. By the mean value theorem we have

$$\begin{aligned} \frac{\Delta a_n^{[l]}}{a_{n-1}^{[l]} + a_n^{[l]}} &\geq \frac{1}{2} \frac{\Delta a_n^{[l]}}{a_{n-1}^{[l]}} = \frac{1}{2} \frac{\log^{[l]}(n+l) - \log^{[l]}(n+l-1)}{\log^{[l]}(n+l)} \\ &= \frac{1}{2\xi \log^{[1]} \xi \log^{[2]} \xi \dots \log^{[l-1]} \xi \log^{[l]}(n+l)}, \end{aligned}$$

where $n+l-1 < \xi < n+l$. On the other hand we have

$$\begin{aligned} \frac{1}{2} \frac{\Delta a_n^{[l+1]}}{a_{n-1}^{[l+1]} a_n^{[l+1]}} &= \frac{1}{2} [\log^{[l+1]}(n+l+1) - \log^{[l+1]}(n+l)] \\ &= \frac{1}{2\eta \log^{[1]} \eta \log^{[2]} \eta \dots \log^{[l-1]} \eta \log^{[l]} \eta}, \end{aligned}$$

where $n+l < \eta < n+l+1$. Thus the lemma follows. \square

Lemma 3. Fix a positive integer k and a sequence ε_n of nonnegative numbers. Let

$$\begin{aligned} b_n^{[k+1]} &= a_n^{[0]} a_n^{[1]} a_n^{[2]} \dots a_n^{[k-1]} a_{n-1}^{[k]} \varepsilon_n \\ b_n^{[l]} &= a_n^{[0]} a_n^{[1]} a_n^{[2]} \dots a_n^{[l-1]} (a_{n-1}^{[l]})^2 + a_n^{[0]} a_n^{[1]} a_n^{[2]} \dots a_n^{[l-1]} (a_{n-1}^{[l]})^2 (a_{n-1}^{[l+1]})^2 \\ &\quad + \dots + a_n^{[0]} a_n^{[1]} a_n^{[2]} \dots a_n^{[l-1]} (a_{n-1}^{[l]})^2 (a_{n-1}^{[l+1]})^2 \dots (a_{n-1}^{[k]})^2 \\ &\quad + a_n^{[0]} a_n^{[1]} a_n^{[2]} \dots a_n^{[l-1]} (a_{n-1}^{[l]})^2 (a_{n-1}^{[l+1]})^2 \dots (a_{n-1}^{[k]})^2 \varepsilon_n, \end{aligned} \tag{14}$$

where $0 \leq l \leq k$. Then for $0 \leq l \leq k$ there holds

$$\frac{b_n^{[l]} - \Delta a_n^{[l]}}{a_{n-1}^{[l]} + a_n^{[l]}} \geq \frac{1}{2} b_n^{[l+1]}. \tag{15}$$

Proof. By the mean value theorem there is ξ with $n+l-1 < \xi < n+l$ such that

$$\begin{aligned} \Delta a_n^{[l]} &= \frac{1}{\xi \log^{[1]} \xi \dots \log^{[l-1]} \xi [\log^{[l]} \xi]^2} \\ &\leq a_0^{[0]} a_n^{[1]} \dots a_n^{[l-1]} (a_{n-1}^{[l]})^2. \end{aligned}$$

Therefore

$$\frac{b_n^{[l]} - \Delta a_n^{[l]}}{a_{n-1}^{[l]} + a_n^{[l]}} \geq \frac{b_n^{[l]} - \Delta a_n^{[l]}}{2a_{n-1}^{[l]}} \geq \frac{1}{2} b_n^{[l+1]}. \quad \square$$

Now we are in a position to prove Theorem 2. By assumption we have

$$c_{n-1} \geq \frac{1}{4} + \frac{1}{16} b_n^{[0]} \tag{16}$$

for $n > N + 1$ (see (11), (12), (14)) and

$$c_{n-1} = g_n(1 - g_{n-1}), \quad n \geq 2 \tag{17}$$

for a sequence g_n such that $0 \leq g_n \leq 1$, and $n \geq 1$. Since

$$g_n(1 - g_{n-1}) \geq \frac{1}{4} \geq g_{n-1}(1 - g_{n-1}), \tag{18}$$

the sequence g_n is nondecreasing for $n > N + 1$. This and (18) imply that $g_n \leq \frac{1}{2}$. Therefore

$$g_n = \frac{1}{2} - u_n^{[0]}, \quad n > N + 1 \tag{19}$$

for a sequence of nonnegative numbers $u_n^{[0]}$. Substituting this into (16), (17) and simplifying the terms give

$$\begin{aligned} u_{n-1}^{[0]} - u_n^{[0]} &\geq \frac{1}{2} b_n^{[0]} + \frac{1}{2} u_{n-1}^{[0]} u_n^{[0]} \\ &= \frac{1}{2} b_n^{[0]} + \frac{1}{2} \frac{\Delta a_n^{[0]}}{a_{n-1}^{[0]} a_n^{[0]}} u_{n-1}^{[0]} u_n^{[0]}. \end{aligned} \tag{20}$$

Lemmas 1 and 3 imply that $u_n^{[0]}$ is of the form $u_n^{[0]} = a_n^{[0]}(1 + u_n^{[1]})$. Next Lemmas 1–3 combined yield

$$u_{n-1}^{[1]} - u_n^{[1]} \geq \frac{1}{2} b_n^{[1]} + \frac{1}{2} \frac{\Delta a_n^{[1]}}{a_{n-1}^{[1]} a_n^{[1]}} u_{n-1}^{[1]} u_n^{[1]}. \tag{21}$$

By iterating this procedure we obtain the existence of a sequence of positive numbers $u_n^{[k+1]}$ such that

$$u_{n-1}^{[k+1]} - u_n^{[k+1]} \geq \frac{1}{2} b_n^{[k+1]} + \frac{1}{2} \frac{\Delta a_n^{[k+1]}}{a_{n-1}^{[k+1]} a_n^{[k+1]}} u_{n-1}^{[k+1]} u_n^{[k+1]}. \tag{22}$$

Then Lemma 1 yields

$$\lim_{n \rightarrow \infty} \frac{1}{a_n^{[k+1]}} \sum_{j=n+1}^{\infty} b_j^{[k+1]} \leq 4. \tag{23}$$

The latter is equivalent to (3). \square

Theorem 2 implies Theorem 1 immediately. Indeed, assume $\varepsilon \geq 0$. We have

$$\sum_{j=n+1}^{\infty} \frac{1}{j \log^{[1]} j \log^{[2]} \dots \log^{[k]} j} = +\infty.$$

Therefore $\varepsilon = 0$.

Theorem 2 is sharp, i.e. there exist chain sequences a_n satisfying

$$c_n \geq \frac{1}{4} + \frac{1}{16n^2} + \frac{1}{16n^2(\log^{[1]} n)^2} + \dots + \frac{1}{16n^2(\log^{[1]} n \log^{[2]} n \dots \log^{[k]} n)^2},$$

for n big enough. Indeed, let

$$g_n = \frac{n}{2n+1} - \frac{1}{2(2n+1) \log^{[1]} n} - \frac{1}{2(2n+1) \log^{[1]} n \log^{[2]} n} - \dots - \frac{1}{2(2n+1) \log^{[1]} n \log^{[2]} n \dots \log^{[k]} n}.$$

For n big enough, say $n \geq N$, the numbers g_n are well defined and $0 \leq g_n \leq 1$. Let $c_n = g_n(1 - g_{n-1})$ for $n \geq N$ and $c_n = 0$ for $n < N$. Then c_n is a chain sequence. Moreover we have

$$c_n = \frac{1}{4} + \frac{1}{4(4n^2 - 1)} + \frac{1}{4(4n^2 - 1)} \sum_{i=1}^k \gamma_i,$$

where

$$\begin{aligned} \gamma_i &= \frac{2n}{\log^{[1]}(n-1) \dots \log^{[i]}(n-1)} - \frac{2n}{\log^{[1]} n \dots \log^{[i]}(n)} \\ &\quad - \frac{1}{\log^{[1]} n \dots \log^{[i]} n} \sum_{j=1}^{i-1} \frac{1}{\log^{[1]}(n-1) \dots \log^{[j]}(n-1)} \\ &\quad - \frac{1}{\log^{[1]}(n-1) \dots \log^{[i]}(n-1)} \sum_{j=1}^{i-1} \frac{1}{\log^{[1]}(n) \dots \log^{[j]}(n)} \\ &\quad - \frac{1}{\log^{[1]}(n-1) \dots \log^{[i]}(n-1) \log^{[1]}(n) \dots \log^{[i]}(n)}. \end{aligned}$$

This implies

$$\gamma_i = \frac{1}{(\log^{[1]}(n))^2 \dots (\log^{[i]}(n))^2} + o\left(\frac{1}{n}\right).$$

Therefore the sequence c_n satisfies the assumptions of Theorem 2 with $\varepsilon_n = 0$.

References

[1] T. Chihara, Chain sequences and orthogonal polynomials, *Trans. Am. Math. Soc.* 104 (1962) 1–16.
 [2] T. Chihara, An introduction to orthogonal polynomials, in: J.T. Schwartz (ed.), *Mathematics and Its Applications*, Vol. 13, Gordon and Breach, New York, London, Paris, 1978.

- [3] T. Chihara, Spectral properties of orthogonal polynomials, *Trans. Am. Math. Soc.* 170 (1982) 623–639.
- [4] L. Jacobsen, D. Masson, On the convergence of limit periodic continued fractions $K(a_n/1)$ where $a_n \rightarrow -1/4$. Part III, *Constructive Approx.* 6 (1990) 363–374.
- [5] R. Szwarc, Chain sequences and compact perturbations of orthogonal polynomials, *Math. Z.* 217 (1994) 57–71.
- [6] R. Szwarc, Chain sequences, orthogonal polynomials and spectral radii of Jacobi matrices, *J. Approx. Theory* 92 (1998) 59–73.
- [7] R. Szwarc, Sharp estimates for Jacobi matrices and chain sequences, *J. Approx. Theory* 118 (2002) 94–105.
- [8] H.S. Wall, *Analytic Theory of Continued Fractions*, D. van Nostrand Co., New York, 1948.